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a.5. Solvethe foIIowing (An
Y Two) (10)
[
a) Let G = <Gt
“@becdeg ad — be = o ('S @ group w.r.t to usual
multiplication of Matrices
b)  Let (GEHanclGEERTTAr
' OBroupand F: G - G' be h hism th ove
that f(e)i= A3 e homomorphism then pr
fle) = e'and Faty = [p gyt
c ifF:G'_’G'behom . Ao
) oGl Omorphmm With Kernel K then prove that K is normal subgroup
prove thata + b ‘
d) \/EE R Va,beRthenr is ring with respect to addition.
he followi
06 solve the following (Any Two) (10)
a)  using mathematicallinduction show that 5 4 1014 15 5n = D
} via ses sy — 2
b} Show that pAGV T (® A @) v (p Ar) with truth table and define Converse,
Contrapositive and Inverse.
¢ IfA B, Cbe anythree sets then grove that (A \ B) X C = (4 x B) U (4 x C)
d) Define Sets and its types with suitable example énd explain set identities.
Q7. solve the following (Any Two) (15)
a)  Findsolution of RR a5 — a1 + 2a, =n? ,ay=1and a, = —4.
b) Let A = {a, b, c} determine whether the relation R whose matrix Mgis given is an
' : g 0 IR O 1
equivalencerelationif Mp =10 1 1| Mp=10 1 0
(0¥, AR 0} (O}
c) List the ordered pairs in the relation R from A = {0,1,2,3,4,5} to B = {0,1,2,3}
where (a, b) € R. | '
d) Solve the following min spanning of tree by Prims algorithm and Krushical algorithm.
e) To prove that R/l with respect to addition is an abelian group.
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Proved by mathematical induction that if Ay Az ..o, A,are n-set then

( N A ) =0 A




